
0 20 40 60 80 100

0.
0

0.
4

0.
8

Ras pathwayScoresCEL NR

Surv in Months

P
ro

pn
 A

liv
e

Low Ras
High Ras

p = 0.7631

0 20 40 60 80 100

0.
0

0.
4

0.
8

Ras pathwayScoresCELBild NR

Surv in Months

P
ro

pn
 A

liv
e

Low Ras
High Ras

p = 0.7631

0 20 40 60 80 100

0.
0

0.
4

0.
8

Ras pathwayScoresCELBatch NR

Surv in Months

P
ro

pn
 A

liv
e

Low Ras
High Ras

p = 0.9361

0 20 40 60 80 100

0.
0

0.
4

0.
8

Ras pathwayScoresCELBildBatch NR

Surv in Months

P
ro

pn
 A

liv
e

Low Ras
High Ras

p = 0.8545


